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1. Find each of the following products: ( — 115) x 8 (ii)

O9x (—3) x(—6)(-12) x(—13) x (—5)

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nRqVdQl0ZCfV

2 Evaluate each of  the following products:
(=D x(—2)x(—=3)x(—4) x(—05) (-3)

x (—6) x (—9) x (—12)

° Watch Video Solution

3. Evaluate each of  the following products:
(—=1) x(—=1) x (—1) x 50 times

(—=1) x(—1) x (—1) x 151 times

° Watch Video Solution

4. Find the value of 15625 x ( — 2) + ( — 15625) x 98

° Watch Video Solution



https://dl.doubtnut.com/l/_Wd0O2DgyH8YY
https://dl.doubtnut.com/l/_IWdjORxEI98I
https://dl.doubtnut.com/l/_UHC7YNJg07Nu
https://dl.doubtnut.com/l/_z3kW5vZYbZBt

5. Determine each of the following products:
()12 x 7

(i) (— 15) x 8

A —84

—180

—120

120

—270

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_z3kW5vZYbZBt

6. Determine each of the following products: (i) ( — 25) x ( — 9)

(i) 125 x ( — 8)

° Watch Video Solution

7. Find each of the following products: (i) 3 x ( — 8) x 5 (ii)

9x (—3)x(—6)

° Watch Video Solution

8. Find each of the following products: (i) (-2) x 36 x ( — 5) (ii)

(=2)x (=4 x(-6)x(-8)

° Watch Video Solution



https://dl.doubtnut.com/l/_usKlD8Q5NeLf
https://dl.doubtnut.com/l/_3SORRdXZdNWx
https://dl.doubtnut.com/l/_Vrk2qjgOnVkr

9. Find the value of: (i) 1487 x 327 + ( — 487) x 327 (ii)

28945 x 99 — ( — 28945)

° Watch Video Solution

10. Complete the following multiplication table: Is the
multiplication table symmetrical about the diagonal joining the

upper left corner to the lower right corner?

° Watch Video Solution

11. Determine the integer whose product with —1 is (i) 58 (ii) O

(iii) -225

° Watch Video Solution



https://dl.doubtnut.com/l/_kFg26b41H4vC
https://dl.doubtnut.com/l/_CpCT9Z5WReOa
https://dl.doubtnut.com/l/_VAYiXxC0hTKn
https://dl.doubtnut.com/l/_n9roisHVwDVb

12. What will be the sign of the product if we multiply together

(i) 8 negative integers and 1 positive integers?

(ii) 21 negative integers and 3 positive integers?

(iii) 199 negative integers and 10 positive integers?

A. (i) positive

(i) negative

(iii) positive

B. (i) positive

(i) negative

(iii) negative

C. (i) negative

(i) positive

(iii) negative


https://dl.doubtnut.com/l/_n9roisHVwDVb

D. (i) negative

(i) negative

(i) negative

Answer: B

° Watch Video Solution

13. State which is greater:
(i) (8+9) x 10 and 8+ 9 x 10
(i) (8 —9) x 10 and 8 — 9 x 10

i) {(—2) =5} x (—6)and (—2) — 5 x (— 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_n9roisHVwDVb
https://dl.doubtnut.com/l/_7TLQmT9cj2hM

4. () If ax(—1) = —30, is the integer a positive or
negative?
(i) If a x ( — 1) = 30, is the integer a positive or negative?
A. (i)positive
(i)negative
B. (i)positive
(i)positive
C. (i)negative
(i)negative
D. (i)negative

(i)positive

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_9u2Cj4Bay6p7

15. Verify the following: (i)
I9x{74+(—-3)}=19x7+19 x ( —3) (ii)

(=2){(—=5)+(+19)}=(—-23) x (—5)+(—23) x (+19)

° Watch Video Solution

16. Which of the following statement are true? (i) The product of
a positive and negative integer is negative. (ii) The product of
three negative integers is a negative integer. (iii) Of the two
integers, if one is negative, then their product must be positive.
(iv) For all non-zero integers a and b,a x b is always greater
than either a or b. (v) The product of a negative and a positive
integer may be zero. (vi) There does not exist an integer b such

thatfora > 1,a xb=bx a = b.

o Watch Video Solution



https://dl.doubtnut.com/l/_9u2Cj4Bay6p7
https://dl.doubtnut.com/l/_l07CrszRwVZ0
https://dl.doubtnut.com/l/_MbN7609xrOce

17. Divide: (i) 84 by 7 (i) -91 by 13 (iii) -98 by

-14 (iv) 324 by -27

° Watch Video Solution

18. Find the quotient in each of the following: (i) ( — 1728) + 12

(ii) ( — 15625) = ( — 125) (iii) 30000 = ( — 100)

° Watch Video Solution

19. Find the value of
(i)[32+2x 17+ (—6)] ~ 15

(i) || — 17| + 17| = || — 25| — 42|

° Watch Video Solution



https://dl.doubtnut.com/l/_MbN7609xrOce
https://dl.doubtnut.com/l/_92vYAyqrkxJB
https://dl.doubtnut.com/l/_UG8RPvega1pJ
https://dl.doubtnut.com/l/_7O61OP9PTJcY

20.Simplify: {36 ~ ( — 9)} + {( — 24) + 6}

A2
B.1
C.3

D.4

Answer: B

° Watch Video Solution

21.Divide: (i) 102 by 17 (ii) -85 by 5

° Watch Video Solution

22. Divide: (i) -161 by -23 (ii) 76 by -19


https://dl.doubtnut.com/l/_jr9P4vm0oAXv
https://dl.doubtnut.com/l/_HNxyLeecKU3R
https://dl.doubtnut.com/l/_fqQpNVPh5iO4

° Watch Video Solution

23. Divide: 17654 by -17654

(ii) (-729) by (-27)

° Watch Video Solution

24. Divide:

(1)21590 by — 10

(i) 0 by — 135

A. ()2159

(i))— 135

B. (i)— 2159

(i1)135



https://dl.doubtnut.com/l/_fqQpNVPh5iO4
https://dl.doubtnut.com/l/_xGKJJ2rQvMAf
https://dl.doubtnut.com/l/_DzMIUZ2UoDO9

C. (i)— 21590

(ii)135

D. (i)— 2159

(i1)0

Answer: D

O Watch Video Solution

25.Fill in the blanks: (i) 296 + ... = — 148 (ii) —88 =+ ... =11

o Watch Video Solution

26.Fill in the blanks: (i) 84 + ... = 12(ii)... + —5 =25

° Watch Video Solution



https://dl.doubtnut.com/l/_DzMIUZ2UoDO9
https://dl.doubtnut.com/l/_5OtDaEO5qH63
https://dl.doubtnut.com/l/_DvmVJnX05t7k

27.Fill in the blanks: (i) ... =156 = — 2(ii) ... + 567 = —1

° Watch Video Solution

28. Which of the following statement are true? 04 = 0 (ii)

0+-(—-7) =0

° Watch Video Solution

29. Which of the following statement are true? —15 <+ 0 = 0 (ii)

0+-0=0

° Watch Video Solution



https://dl.doubtnut.com/l/_l2Gv7RPB6ny0
https://dl.doubtnut.com/l/_x2j0lNlUQ1eO
https://dl.doubtnut.com/l/_98T7g8Grx3gX

30. Which of the following statement are true?
(-8 +(—-1)= —38
(i) —8+(—2) =4

A. (7)

B. (i)

C.(¢) and (47)

D. None of the above

Answer: B

° Watch Video Solution

31.Simplify: 24 —4 +2 x 3

A. 16


https://dl.doubtnut.com/l/_mTTaCRFniFk1
https://dl.doubtnut.com/l/_mFPsQ1rOWcIA

B.18

C.17

D. 15

Answer: B

O Watch Video Solution

32.Simplify: (— 20) + (—8) = (—2) x 3

o Watch Video Solution

33.Simplify: (— 5) — (—48) = (—16) + (—2) x 6

° Watch Video Solution



https://dl.doubtnut.com/l/_mFPsQ1rOWcIA
https://dl.doubtnut.com/l/_JE06oeuvrO9Q
https://dl.doubtnut.com/l/_9UNRf0BLIQvL

34.Find the valueof 36 -~ 6 +32.24 + 15 = 3

° Watch Video Solution

35. Find the value of
1).120 — 20 +- 4

2).32— (3x5)+4

° Watch Video Solution

36. Find the valueof 3 — (5 — 6+ 3) 2.21 — 12+ 3 x 2

° Watch Video Solution

37.Find thevalueof 16 + 8 =4 —2 x 32.28— 5 X 6+ 2

[ =


https://dl.doubtnut.com/l/_GwyZIp0B5nST
https://dl.doubtnut.com/l/_VpaCR9xzqOUc
https://dl.doubtnut.com/l/_1wi7pt0mvtaB
https://dl.doubtnut.com/l/_bSH2X2HAnU8n

| @ Watch Video Solution

38. Find the wvalue of (—20)x(—1)+(—28)+7

(=2)+ (-8 (-4

° Watch Video Solution

39. Find the value of
1).(—15)+4+(5—-13)

2).(—40) x (— 1)+ (—28) =7

° Watch Video Solution

40. Find the value of
). (=3)+ (-8 =(—-4) —2x(—-2)

2 (=3)x (=4 =+(-2)+(-1)


https://dl.doubtnut.com/l/_bSH2X2HAnU8n
https://dl.doubtnut.com/l/_bGnwgjCnBsoa
https://dl.doubtnut.com/l/_1omQhKwo7Vdm
https://dl.doubtnut.com/l/_DSRojX4WTE4p

o Watch Video Solution

41.Simplify : 27 — [5 4+ {28 — (29 — 7)}]

° Watch Video Solution

42.Simplify: 48 — [18 — {16 — (5 — 4 —1)}]

° Watch Video Solution

43. Simplify: 222 — [%{42 + (56 — (8+ 9))} + 108

° Watch Video Solution

44. simplify: 39 — [23 — {29 — (17 — 9 — 3)}]



https://dl.doubtnut.com/l/_DSRojX4WTE4p
https://dl.doubtnut.com/l/_K3ivw4e7KFJH
https://dl.doubtnut.com/l/_sDByZaNaIepC
https://dl.doubtnut.com/l/_Og5f6eJXl1Oe
https://dl.doubtnut.com/l/_HvR8hrh2rpvN

| ° Watch Video Solution

45. Simplify: 118 — [121 + (11 x 11) — (—4) — {3 — 9 — 2}]

° Watch Video Solution

46. Simplify each of the following: 3 —(5—6-+3) 2.

—25+ 14+ (5—3)

° Watch Video Solution

47. Simplify each of the following: 1).
1
25 — 5{5—1—4—(3—1—2—14—3)}

2). 27 — [38 — {46 — (15 — 13 — 2)}]

° Watch Video Solution



https://dl.doubtnut.com/l/_HvR8hrh2rpvN
https://dl.doubtnut.com/l/_e44V5V9Jz5tL
https://dl.doubtnut.com/l/_WrLYVVh5kRXa
https://dl.doubtnut.com/l/_7WzCItjP1KnY

48. Simplify each of the following:

36— [18 — {14 — (15 — 4 = 2 x 2)}]

2). 45 — [38 — {60 + 3 — (6 — 9 = 3) =+ 3}]

° Watch Video Solution

49. Simplify each of the following:

23 — [23 — {23 — (23 — 23 — 23)}]

2). 2550 — [510 — {270 — (90 — 80 + 70)}]

° Watch Video Solution

50. Simplify each of the following:

1)4+%H—&0x@5—m—3ﬂ+(—®]

2). 22— 2{ 5 (-~ 48) < (-~ 16))

|



https://dl.doubtnut.com/l/_7WzCItjP1KnY
https://dl.doubtnut.com/l/_yGFHZeW3V7u7
https://dl.doubtnut.com/l/_BTJAEQQenMLD
https://dl.doubtnut.com/l/_eA7aInvZQZsq

o Watch Video Solution

51. Simplify each of the following:
1). 633{ —2—-8—-3}+[3{6+(—2)( — 1)}

2. 29— (=2{6-("T=3)} +Bx{B+(-3) x(-2)}

° Watch Video Solution

52. Using brackets, write a mathematical expression for each of
the following:

1). Nine multiplied by the sum of two and five.

2). Twelve divided by the sum of one and three.

3). Twenty divided by the difference of seven and two.

4). Eight subtracted from the product of two and three.

5). Forty divided by one more than the sum of nine and ten.


https://dl.doubtnut.com/l/_eA7aInvZQZsq
https://dl.doubtnut.com/l/_irz5PyUGzpkJ
https://dl.doubtnut.com/l/_9V5FVjgux6KK

6). Two multiplied by one less than the difference of nineteen

and six.

° Watch Video Solution



https://dl.doubtnut.com/l/_9V5FVjgux6KK

